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INSTRUCTIONS
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CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET. '
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Booklet in the Box provided alongside. DO NOT
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This Test Booklet contains 100 items (questions}, Each item is printed both in Hindi
and English. Each item comprises four responses (answers}. You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is

more than one correct response, mark the response which you consider the best. In any

case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.
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Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i} There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third (0-33) of the
marks assigned to that qlestion will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wiong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question. ' :

(i) If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question, ,
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1. Two sides of an acute-angled triangle
are 6 cm and 2 cm respectively.

Which one of the following
represents the correct range of the
third side in cm?

{
(@) @8 |
(b) {4, 2V10)
€ @438

(d) @2, 2~§/ﬁ)

2. What is tlhe last
expansion of 34798 o
(@) 1
(b) 3
(€ 7
{dj 9

digit in the

3. What is

1 1 1
Jo-v8 NBa-J7 J7-v6
i . 1 1
“J6-JE -4

equal to?
(@ O
b} 1 '
fc} S
(d) 1/3

4. What are thF: factors of
x2 +4y2| +4y-4xy-2x-87?
(a) (x—2y:—4) and (x -2y +2)
(B) (x-y+2) and (x-4y+4)
fc) (x—y+;2] and (x—-4y-—4)
(d} (x+2y-4) and (x+2y+2)
\
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5. What is  the, HCF  of
4x3 +3x2%y-9iy? +24° and
x2 +xy-2y*? - T
(a) x-2y 2
(b) x-y
€ (x+2yp{x-y
d) (x-2y(x-y

. L 18

6. What is the sum of the digits of the
least number which, when divided
by 52, leaves 33 as remainder;
when divided by 78, leaves 59 and
when divided by 117, leaves 98 as
remainder?

fa) 17
(b) 18
fc) 19
(d} 21

7. If f(x} and g(x) are two polynomials
with integral coefficients which
vanish at x =1/2, then what is the
factor of HCF of f(x) and g{x)?

fa) x-1
(b) x-2
fcj 2x-1
{dl 2x+1°

8. If the expression (px3 +x2% -2x -q)is
divisible by (x -1 and {x + 1), what
are the values of p and g
respectively?

faj 2 -1
(b} -21
) -2,-1
(d) 21
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1. @& =7 w0 e € @ gt I 6 cm
@ 2 em H §) Feafafga & @ wF-m
@, ol oy B @ = W em @
frefid w27

(@) 4,8

(b) (4, 2J10)
() 42 8
(@) @2, 2J10)

2. 39798 ¥ fopam W ifm o w1 B7
faj 1
(b) 3
€ 7
(d) 9

s L 1 . 1
" Jo-18 J8a-17 vi-v6
1 1
“T6-75 o-1&

Torers =T 27
{a) 0

b} 1

€ 5

(d) 1/3

4, x2 +4y? +4y-dxy-2x-8 % PAGES .

w1 &7

(@) -(x—2y—4]3ﬁl(x-2y+2)
b) (x-y+2) AN (x-4y+4)
o) {x~y+2) 3R (x-4y-4)

(d) (x+2y—-4) 3R (x +2y+2)

Q-DETB-K-FN/26A

3

3t
x2 +xy-2y%® ® HCF & 27

5. 4x3 + 3x2y - 9xy? +2y°

- fa) x-2y
(b} x-y
(¢} (x+2ulx -4
{d) (x-2y{x-y

6. 3W AW WEAI F 3K F I w0 g, B
52 } fnfa +Q @ 33 A9 @@ &, 78
¥ fawfm 0 W 59 3w wa § @R
117 § fnfvm #3 ® 98 I @ 27

(@) 17
(b} 18
() 19
{d) 21

7. AR T TFR f(x) I glx) T T7F ala
B Mx=1/2m @A TRE, @ f(x)

3R g(x) ¥ HCF =1 7O F1 }7
fa) x-1 _ v
(b) x-2
fc) 2x-1
(d) 2x+1

8. It v (px3+x2—-2x-q), (x-1
aﬂt(x+1)§mﬁm‘w%,?ﬁpafnqéa
T W ) 27
(@) 2 -1
(b) -21
{c) -2 -1
(d 21

[P.T.O.
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9. The ratio between the ages of A and

Bis 2. 5. After 8 ylaars, their ages
will be in the ratio 1 : 2. What is the
difference between' their present

i

ages? : '
{a} 20 years
(b} 22 years |
(¢} 24 years
(d) 25 years |

10. A mixture contains milk and water in

the ratio 5: 1. On adding 5 litres of
water, the ratio ofimilk and water
becomes 3 : 2. What is the quantity
of milk in the original mixture?
{a) 5 litres '
(b) 25 litres
(¢} 27-S litres

{d) 32-5 litres

|
11. What is the smalles;t positive integer

which when divided by 4, 5, 8, 9
leaves remainder§ 3, 4, 7, 8
respectively?

(@} 119
() 319
() 359 |:
(d) 719

12. What is the value i‘of x for which x,

x+1, x+3 are all prime numbers?
@ © |

(b} 1
fcg 2
fdj 101

Q-DETB-K-FN/26A

13. A person spends 30% of monthly

salary on rent, 25% on food, 20%
on children’s education and 12%
on electricity, and the balance of
Rs 1,040 on the remaining items.
What is the monthly salary of the
person?

(a) Rs 8,000
(b} Rs 9,000
{c) Rs 9,600

{d) Rs 10,600

14. If p*=rY=m and r¥Y=p%=n,

then which one of the following
is correct?

@ xw=yz
(b} xz=yw
fe) x+y=w+z

fd x-y=w-2z

15. A father and his son start at a point

A with speeds of 12 kmph and
18 kmph respectively, and i'each_
another point B. If his son starts
60 minutes after his father at A and
reaches B 60 minutes before his
father, what is the distance between
A and B?

fa) 90 km

(b} 72 km

) 36 km

{d) None of the abave

StudentSuvidha.in
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9, AR BH I * v agaw 2: 531
8 =¥ uyarg Il IW w U 1:2
B adaE § IR I BT v w4 A7

{a) 20 T4
(b} 22 T
(c) 24w
(d) 25T

10. & figor # gu 3 ol 1 agE 5 : 1
" 215w ot iR e w gy oft ard
H WGTE 5:2 | Wl g1 q@ P #
gy Y W w1 27

(a) 5 X

(b) 25 ofie
c) 275 fteX
(d) 325«

11. aeaaﬁf&mmqgﬁam%ﬁaﬁ,m
4, 5, 8, 9 gt Tyl frm s 8, At
A9 w3, 4, 7, 8 =<l &7

(@) 119
(b} 319
(c) 359
(d) 719

12. x & 98 WA = 2, s e ox, x4+,
x + 3 9t aniy g &7

(@ O
(b) 1
fc) 2
{d) 101

Q-DETB-K-FN/26A

13. & i Wifs a6 #1 30% e T,

25% SIH W, 20% =i @l e @
it 12% fasrelt W e W9 1,040 %o
arhl &l W wd W 21 = S A
o w1 8t

(@) 8,000 %o
{b) 9,000 o
(c) 9,600 %o

{d} 10,600 %o

14, IR p* =r¥ =m MY = p? =n3, @

frafefan & o FF-a o wdt 77
o) xw=yz

(b} xz=yw

) x+y=w+z

(d x-y=w-z

15. T fmn ofk 3@ g #WE: 12 kmph

3 18 kmph ¥ 8 @ fog A | Ie
o fag Bwowgad §1 Ik
o far € 60 A uveg A @ W
a1 ® o 3 fen @ 60 e uwwt B
R agEd ?, @ A 3 BF f9 H gl
1 37 .

(@) 90 km
(b) 72 km
{c) 36 km

(d) mﬁﬁﬁqﬁ

[P.T. 0.
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16. If the eqtl-l.lation

(@ + b2)x? - 2ac+ bd)x +(c? +d?) =0
% .

has equc"‘]tl roots, then which one of
the following is correct?
|

{a] ab=cd
(b) ad ='bc
a2+ 'Fz

(d) ac=bd

=b% 1+ 47

17. Two trains of lengths 100 m and

150 m are traveling in opposite
directions| at speeds of 75 kamph

and 50 kmph respectively. What is _

the time taken by them to cross
each other'-’

“m;74s;
(b) 72s
(c)- 7 s ¢
(d) 68s ,

i

18. If (a-b): (a+|b)—1 S, then what is

(a2 -b?): {a +b2) equal to?

(@) 2:3{
) 3:2 !
(c} ‘5 : 13
(d) 13:5 °

19. If x varies as, the mth power of Y,

Y varies as the nth power of z and x
varies as the, pth power of z, then
which one of the following is
correct?

fal p=m+n.

(b) p=m-n,

fc) p=mn

{d) Nomne of tﬁe above

20.

21.

.22,

23.

If - x ={b-dla~d),
={a-b){c-d), then
x3 4 yd +2° equal to?

= (c-a)(b ~d),

what is

(@) xyz

(b) 2xyz

{c) 3xyz

(d] -3xyz

If the 14th term of an anthrnctlc

series is 6 and 6th term is 14, then
what is the 95th term?

(@) -75
(b} 75
(c) 80
{d) - 80

L4

What is the solution of the equation
‘j x \/x +3 3 '
LI =-Z2 .
x+3 x 2

fa) 1

(B 2

(c) 4

{d) Nomne of the above

If nis a positive integer, then what is

the digit in the unit p]ace of
: 32n+1 +022n+lq

(@ O
(h) 3
) 5
(@ 7

| StudentSuvidha.in
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16. IfE TR
(@2 +b2)x? - 2ac+ bdjx +(c? +d?}=0
F m s €, @ fr=fafaa & @ s9-a
T el 7
fa) ab=cd
{b) ad=bc
c) a?+c? =b?+d?
(d) ac=bd

17. 2 miEEi, 100 m 3 150 m &=
£, @ ® fBoda R d
75 kmph #R 50 kmph ! 916 & 97
W ¥ T g0 UH-gE & UR A {
forn e T = 27
(@ 74s '
b 72 s
fc) 7s

. (d) 68 s

18. IR  (a-h:la+b)=1:5 & - @
(@ -b?):(a? +b?) F T T 7
fa} 2:3
(b 3:2
) 5:13
{d 13 :5

19, TR x, y &t m3 Tm H W wfa@ @
2 y, z A rd U R Wz TefE o g
3R x, z H A o i wE Fefa @
- %, @ Pafafas § ¥ SF-1 wF a9d 27
" fa) p=m+n '
) p=m-n
¢/ p=mn

(d) 39w & & =g A

Q-DETB-K-FN/26A . 7

20, 4% x=(b-dla-d), y=(c-ab-d),

z=la-ble-d) ¢, @ x3+y3+23 F
T T 27

fa) xyz

(b) 2xyz

(e} 3xyz

. (d) -3xyz

21, IR U wEEA At w1 1491 15 6 B 3R

631 13 14 &, @ 9531 ue = &7

(@) -75

(b)) 75

{c) 80
(d) -80

22. TR

J x _Jx+3 =__.§
x+3 X 2

1 g 41 87

(@) 1

(bj 2

e/ 4

(dj 3w 4 @ i T

23. IRk n ©H W S 2, @ 320+t 4220+

% T T T 37 . RY
fa) O

(b) 3

) 5

d 7

[P.T.O.
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24. Ifk is any even positive infeger, then
k2 +2k)is
(a) divisible by 24

(b) divisible by 8 but may not be
divisible by 24
§

(c) divisible by 4 but may not be
divisible by 8

(d) divisible by 2 but may not be
divisible by 4

25. If salary of (X is 20% more
than salary of Y, then by how
much percentage is salary of Y
less than X?

f@) 25
(b} 20
{c) 50/3
{d) 65/4

H
i

26. What are the roots of the equation
4% -32%*2,.32=0?

fa) 1, 2
(b} 3, 4
fc) 2,3
d 1,3

27. If o and B aré the roots of the
equation x? —)é— 1=0, then what is
the value of (-:14 +B4}?

(@ 7
(b} 0
(c) 2
{d) None of th:e above

Q-DETB-K-FN/26A

28. Under what condition do the
equations kx-y=2 and 6x-2y=23
have a unique solution?

fa} k=3
(b} k=+3
fcg k=0
(d k=0
29. If sum as well as product of roots of a

quadratic equation is 9, then what
is the equation?

{a) x24+9x-18=0
(b) x°%-18x+9=0
{0 x?4+9x+9=0
{d) x?-9x+9=0
30. Which one of the following is a

non-terminating and repeating
decimal?

() 13/8
(b) 3/16
fc) 3/11

{d) 137/25

StudentSuvidha.in
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24. R k @S @ o s &, @ (k2 +2k) 28. frg sheey & o T foc - gy = 2
, A 6x - 2y = 3 F AfgdA & g 27

fa) 24 @ v B

(b) 8 & fosw ¥ fg 24 § @ k=3
T oft 3w B

(c) 4 fem & frg 8 A fawrew (b) k3
+ft g1 wehar ¢

f¢) k=0

(d) 23 R g feg 4 | R T

i g T §
d . fd k0 -

25, AR X N 9499 ¥ & 90 8 20% 174 2,

WY & A6 X 8 fora wfcwra w9 87

29. 7% wF fyoma wierm & et w= am e
fa) 23 w1 € e 9 #, @ wefta = 27
(b} 20
¢/ 50/3 ' {a) x%+9x-18=0
(d] 65/4

(b) x2-18x+9=0

26, gffFmr 4% -3.2%*2.32=-0 & A
‘ 0= A1 ) x2+9x+9=.0

T 87
@ 1,2 . {d x%?-9x+9=0
(b) 3,4
) 2,3
@ 1,3 30. fafoflas & & #F-w W zymeE
FaEH R groad 37 M
27. uﬁ@rﬁ‘}mﬂ-xq:o%mﬁaaﬁtﬁ (J) 1378 . o
Q,
g, @ o +pY) T H W/ RY
(@ 7 b} 3/16.
() O
¢/ 3/11
(c) 2 _
(d} 3I9EF T | F§ 7 _ (d) 137/25
\
Q-DETB-K-FN/26A 9 [P.T. O.
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3l. Ifa+b+c=0, ’Ehen what is the value

of EI—2-+£+23—29
bc ca ab

(@ -3

(b} ©

{c) 1

(d) 3

. If 1 is added tjo the denominator of

a fraction, it becomes 1/2 and if 1
is added to the numerator, the
fraction becomes 1. What is the
fraction? |

(a) S5/9 .
(b 2/3
(¢) 4/7

(@ 10/11 '

33. A motorboat takes 2 hours to travel a

distance of 9 'km down the current
and it takes 6 hours to travel the
same distance against the current.
What is the speed of the boat in still
water in kmph'r’

(a) 3 i
(b) 2
C

(@ 1

34. A can do a piece of work in 24 days.

If Bis 60% more efficient than A,
then how many days does Brequire
to do the same work?

(a] 12
(b} 15
(c) 16 ‘
(d) 18

|
|
i

35. A sum of money lent on simple

interest trebles itself in 15 years
and 6 months. In how many years
will it be doubled?

{a) 6 years and 3 months
(b) 7 years and 9 months
(c) 8 years and 3 months

(d} 9 years and 6 months

36. On selling an article for Rs 240, a

trader loses 4%. In order to gain
10%, he must sell the article for

(a) Rs 275
(b) Rs 280
() Rs 285
(d} Rs 300

. In a class, the number of boys is

more than the number of girls by
12% of the total strength. What is
the ratio of number of boys to that
of girls?

(@ 11: 14
() 14 : 11
{c) 28 :25
({d) 25: 28

38. Three numbers are in the ratio

3 :2 :5 and the sum of their
squares is 1862. What are the three
numbers?

{a) 18, 12, 30
(b) 24, 16, 40
{c) 15, 10, 25
(d} 21, 14, 35

StudentSuvidha.in
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31. AR a+b+c=0%, @

32, IR ww g & w A 1 S 9, G I8
1/2 8 9rar § oK afy m & 1 =
s, @ fiem 1@ sman 31 fre e R7
@) 5/9
(b} 2/3
c) 4/7
{d 10/11

33. U A FEE K 7w & 9 km Hi gh
T wH R 2 92 owdt 2 oM wgm
frfm Rm i g @ v & 6 W
e R e ot & e Y 91 kmph
Teraet 27
(a) 3
(b) 2
¢ 15
(@ 1

34. AT s % 24 fA dmawa 21 afe A
¥ B 60% 3ftrs wrigee 2, @t 3t o
* A & forg B A TR fox wfye?

{a} 12
(b) 15
{c) 16
{d) 18

Q-DETB-K-FN/26A 11

35, WURY AN W KW § W TH G

15 a9 3 6 wig ¥ o= @ Roph | 9w
2, @ 7 T Fega af 4 <drh gl

fa) 674 3R 3 AR '
(b) 7 a4 3t 9 Ty
¢/ 8= 3 3R
(d) 9 a4 3R 6 ATE

36. T& HURI &l &1 a5y 240 To § 98H W

4% F @l B 71 I 10% o T F
fory g =1 ey F = wnfRa?

(a} 275 %o
(b) 280 %o
(c) 285 %o
(d) 300 %o

37. T w1 i weEt £ gewm, aehE @

e ¥ T e H 12% AuE 2
TEH hl G W @elndl Y gE A
FIa 1 37
fa) 11 : 14
M) 14 : 11
{c; 28 :25
(d) 25:28

38. 9 Wed 3:2:5 ¥ emwE § ¥ v

Mk G H ATHA 1862 B A dH
AN T 37

fa) 18, 12, 30

(b) 24, 16, 40
c) 15, 10, 25
([d) 21, 14, 35

[P.T.O.

StudentSuvidha.in



http://studentsuvidha.in/
http://studentsuvidha.in/

39. If one root of the equation 43. If 00592% in the first quadrant,

ax? +x-3=0is -1, then what is

the oth t? then which one of the following
e other root"

is correct?
(a) 1/4
(b) 1/2 fa) 8<n/3
) 3/"; : fb) 62n/3
d) 1,
fcJ 6<sn/6
40. What is the value of
Lo, (d) 02n/6

Elogi‘_o 25 -2log, 3 +log, o 18 ?

@ 2 '
| 44, What is the value of
(b) 3
1
fc) 1 - ~cos 1° cos 2° cos 3° ... cos 90° ?
i
d 0
._ ) 1/2
41. The product of a rational number
and an irrational number is (b ©
{a} a natural number
(b} an irrational number ' (e 1
fc) a composite number (d) 2
{d) a rational number
42. The angle of elevation of the top of a  45. Two poles of heights 6 m and 11 m
tower from the bottom of a building stand vertically upright on a plane
is twice that from its top. What is ground. If the distance between
the height of the building if the their feet is 12 m, what is the
height of tlhe tower is 75 m and the distance between their tops?
angle of elevation of the top of the
tower from the bottom of the @ 1lm
building is 60°?
(@ 25m' {b) 12m
(b) 37-5m
\ fc/ 13m
{c¢} 50m .
1
{d) 60m {d) 14m
Q-DETB-K-FN/26A 12
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'39. I WU ax? +x-3=0 F TH A
- 13, @ T T 7
() 1/4
(b) 1/2
e} 3/4
(dj 1

40. -zl_logm 25-2log,, 3+log; 18 F WA
w0 R7
(@) 2
(b) 3
c) 1
(@ o

41, T 9o @ 3R UF Wit "' W
TOF%S 1 37
(@) ¥
(b) AT T
{c) V9 HWEAT
(d) wiEw @&

42, et wom & e g el A F 3l =1
T B, Wad & MY /R AR F ¥id &
A HW w21 AR A S
75 m & W w=d F 9 ¥ fam & ol
&1 IFE w 60° B, @ wE i Fur
T 27
(@) 25m
(b) 375m
¢/ 50 m
{d) 60 m

Q-DETB-K-FN/26A

43. Ik yym =gty A 00592%'%,'

ﬁtr%ﬁaaﬁa#r-m@ws‘l%?
(a) 8<m/3
(b) 62m/3
) 0<n/6

(d) 821/6

44, cos 1° cos 2° cos 3° ... cos 90° & AM

= 7

{a) 1/2

(b} 0

) 1

(d 2

45, TG R 6 m 3N 11 m ITE F A

el Fai WY @8 B oAk 3 a6
9 fl gt 12 m §, @ I wfiel & =
£ gt 7 27
fa) 11m
(b) 12m
fc) 13m

(d} 14m

[P.T.O.
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46. If sinB+cosf = i, then what is the 50. In a triangle, if sum of two angles is

value of sin@cos@? - equal to the third angle (considering
. the interior angles only}, then the
{a) 2 . :
| triangle is :
(b) O {a) right-angled
(c) 1 !
| (b) acute-angled
[y 1/2 '.
! {c) equilateral
47. What is ’1+S?ne' equal to? (d) obtuse-angled
1-sin 9]
(a) secf-tan® S1. The side BC of the triangle ABC is

! extended to D. If ZACD=120°
(b} secO+tanb ZABC=2/CAB, then what is

{c) cosecO+cotd ZBAC?
{d} cosecO-cot® (o) 60°
[

48. The shadow of a tolwer is 15 m when (b) 45
the Sun’s altitude is 30°. What is _ () 30°
the length of the shadow when the
Sun’s altitude is !160" ? (d) 72
faj 3 m ’

52, Let PAB be a secant to a circle

(b} 4 m ' intersecting at points A and B, and

€ 5m ! PC is a tangent. Which one of the
, following is correct?

{d 6 m

{a} The area of rectangle with PA,

PB as sides is equal to the area

49. The arithmetic mean of 100 numbers of square with PC as side

was computed as 89-05. It was later

found that two numbers 92 and 83 fb) The area of rectangle with PA,
have been misread as 192 and 33 PC as sides is equal to the area
respectively. What is the correct ) of square with PB as side

arithmetic mean of the numbers?
I (c) The area of rectangle with PC,

al 88-55 ! PR as sides is equal to the area
1

(b) 8755 i of square with PA as side

() 8955 '. {d) The perimeter of rectangle with
PA, PB as sides is equal to the

{d) Cannct be calculated from the perimeter of square with PC as

given data ', side
Q-DETB-K-FN/26A | 14
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47,

46. AR} sinB+cos®=1 %, d sin6 cosb

T W = *7
(@) 2

(b} O

fe} 1

(d) 1/2

1+sinB
1-5in@

F IO T 27

fa} secB-tan
(b) secO+tand
(¢} cosecB+ cot

{d} cosecB —-cotb

48. 9 g F gra 30° T, @ Feeht dam h

BET 15 m ¥ 5@ gl hi g 60° 7, A
BT 6t s fee! 27

{a) 3 m

b} 4 m

fc/ Sm

(d) 6 m

49. 100 HENET &1 HAERR A 8905

arfirsfera form 7L =g & o fE @
el 92 ik 83 el A sHw: 192
a3 33 ug off m off| wemstt @ wdt
AR A1 o1 87

{a) 8855

{b) 8755

c) 89-55

[d) B T @ ¥ e 7@ fFm =
Tl

Q-DETB-K-FN/26A
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50. IR v fiygw & @ @O w1 A AW

F U ¥ (¥ il @ feEm w0
T, i By & 27

(a) WEHOE
(b) I3 wA

(c) ¥HeTE
(d) 3fe wofa

51. fn@ ABC i 1 BC W D &

W T 81 TR LACD =120°,
ZABC=2 /CAB, @ £BAC o1 27

(a) 60°
(b) 45°
fc) 30°
(d) 72°

52. 9H @i fr fRdt gu % fag A st B

fa=3dt & 9%F W PAB § ¥ PC
T Well 2| Fefafae @ @ - @
i 7

{a) PA, PB Y3l 9@ @@ &

ga%e, PC 1 91 @1 % &%
* = 3
(b) PA, PC W3l a@ @@ w

8%, PB {1 991 @ % &9%d
¥ Trat B

(c/ PC, PB ¥=13ll A& dwd &
g%, PA Y1 I @1 F &9%A
EEC I

(d) PA, PB g3l q@ ga @l
aiwm™, PC Yo A 9 & TR &
T

[P.T.O.
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I

§3. The line segments AB and CD 55. A - AW,k
intersect at O. OF is the internal \ 60 60
bisector of obfuse angle BOC and
OE is the internal bisector of acute
angle AOC. If ZBOC= 130°, what is
the measure of #FOE?

‘I ]

(@) 90° ‘ D E ¢
[ In the figure given above, ABCDis a
(b} 110° .‘ quadrilateral with AB parallel to DC
!. ~ and AD parallel to BC ADC is a
fc) 115° | tight angle. If the perimeter of the
; triangle ABE is 6 units, what is the
(d) 120° : area of the quadrilateral?

fa) 23 square units
{b) 4 square units
| fc) 3 square units

54.
{(d) 443 square units

§6. P
A

|

In the figure given above, if R S

ZBAD =60°, ZADC=105°, then

what is ZDPC equal to? In the figure given above, PQ is
L parallel to RS. What is the angle
- between the lines PQ and LM ?

(a) 40° - '
; fa) 175°

b) 45° -

(v | (b) 177°

(c) S0° - c) 179°

(d) 60° ! {d) 180°

"Q-DETB-K-FN/26A
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53, WS AB 3 CD, 0 W WH=dd ¥

54.

s | BOC # Al R
OF % 3 =@ | AOC 1 alt®
Raei® OF 81 3R £BOC=130° &, =
ZFOE ) U 341 37

(@) 90°
(b} 110°
) 115°

{d) 120°

W A g s § AR £BAD = 60°,
ZLADC=105° 2, @ 4DPC % €U
w1 47

faj 40°
(b) 45° .
(c) 50°

(d 60°

Q-DETB-K-FN/26A
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55,

56.

A B
60° 60°
D —_] B c
SR & T JE § ABCD 0F wge 2

AB, DC % @amR ? 3R AD, BC
F §HFR B ADC wEHm 2 3l

s ABE %1 aftam 6 39 2, @ 9
1 &A% foha 87

(a) 2J§Iaﬁ-ﬁ1§
B 4

() 3afgwg
(d) 4J§arfs$r§'

R s

W @ T oG ¥ RS F wRR PO 2

PQ iR LM Y@t % e wor fee 27
(@) 175°
(b} 177°
(c) 179°
(d) 180°
{P.T.O,
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57. 59.

C

In the ﬁgure=$ given above, L is any
point on theE bisector of the acute
angle ABC and the line ML is:
paralle! to BC. Which one of the
following is correct?

1 .
fa) The triangle BML is equilateral

(b)

The tﬁangle BML is isosceles
but right-angled
i

The triangle BML is isosceles
but not right-angled

{c)

{d) The triangle BML is not

isosceles 60.

T

R

NVA

58. P

In the figure given above, O is the
centre of the circle. AC and BD
intersect at P. If ZAOB = 100°, what
is LZAPB?

fa} 77°

{b) 80°

{c) 85°

(d} 90°

A B 0
5

IS

Q
In'the figure given above, PQ is a
diameter of the circle whose centre

is at O, If ZROS =44°, then what is
the value of LRTS ?

(a) 46°
(b) 64° ‘-.
(c) 69° i;

(d) None of the ab@ve

O-DETB-K-FN/26A 18
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C

In the figure given above, ABCD
is a parallelogram. P is a point on
BC such that PB:PC=1:2 DP
produced meets AB produced at Q.
If the area of the triangle BPQ is
20 square units, what is the area
of the triangle DCP?

(a)
(b)
(c)
()

20 square units
30 square units
40 square units

None of the above
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57.

58.

B ; C

FW &G T AHA A I B ABC &
oo W w8 g L B iR W@ mi,

BC ¥ v ¥ Pfafas & @ #m-m

TR

(@) T BML @ &

m By BML wfEg @ g
LECabio]

c B BML qxrﬁarg 2
iy T8

(@) TSt BML wmfyETg T R

pr

Q

TR @ T e # 9w, R =5 o
W ?, PO TF =W 2| A LROS = 44°
¥, M LRTS %1 7 71 87

{a) 46°
(b) 64°
fc} 69°
(@) I F & #g T

Q-DETB-K-FN/26A
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59.
FR € AHA R O FW W wE 21 AC
3 BD, P W uf=de =@ B 3l
. ZAOB=100° %, @t LAPB#I &7
(@) 77°
{b) 80°
{c) 85°
(dj 90°
60. A B o
P
D C

FW @ T IWHIA § ABCD TH TWRH
apfe ¥ Bew g P ywR R T
PB: PC=1:2. /g Q W =@ §& DP
R =@t & AB fierdt §1 7 S BPO
H SA%d 20 91 3% &, O Byw Dep
&7 &6 I 87

(@) 20 I &3
(b) 30 & §wR
fc) 40 =1 3
(d) I 7 A G T

[P.T.O.
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61.

'y
>
o1y

A
v

A
v

b
c Y ' )
1

In the figuré given above, AB is
parallel to C. What is ZXOY ?

(a) 80° g
(b) 90°
{c) 95°

(d} 100°

62. What is the radius of the circle
inscribed in ja triangle having side
lengths 35 cm, 44 cm and 75 cm?

fa}] 3 cm
{b) 4 cm
fc) S cm

(dj 6 cm

63. What is the m;axirnum length of a rod

that can be placed inside a box

. having the 'shape of a cuboid of

length 30 cm, breadth 24 cm and
height 18 cm?

fa) 30cm '
(b) 3042 cr;n
{c) 24 cm |

(d) 185 ci|&n

Q-DETB—K—Fszmi\

64. The volume of a sphere is 8 times
that of another sphere. What is the
ratio of their surface areas?

faj 8 :1
() 4:1
fc) 2:1
fd} 4:3

65. A rectangular area of & square
metres is to be. painted on a
3mx4 m board leaving a border of
uniform width on all sides. What
should be the width of the border?

fa} 025 m
{b) 05 m
fc; 1m
{d) 3 m

66. A solid cylinder of height 9 m has its
curved surface area equal to
one-third of the total surface area.
What is the radius of the base?

fa) 9 m
fb) 18 m
fc) 27 m
(d] 30 m

67. A figure is formed by revolving a
rectangular sheet of dimensions
7cmx4 cm about its length. What

is the volume of the figure thus
formed?

{a) 352 cm?3
(b} 296 cm?3
¢/ 176 cm?®
(d) 616 cm?3

" StudentSuvidha.in
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61.

P
Sty

M

£
)

.
ra

c Y D

SR A TS AHEA F AB, CD F THIRK B
ZXOY T 77

fa) 80°
(b) 90°
fc} 95°

{d) 100°

62. 35 cm, 44 cm 3R 75 cm W= 6

gmﬁmﬁ@ﬁg&ﬁm@aaﬁﬁm
Y

fa) 3 cm
(b} 4 cm
fc) S cm

(d) 6 cm

63. a&a|§30cm,a“rm§24 cm 3 S

Ly

Q-DETB-K-FN/26A

18 cm JFR I TF THIfores T

| gwoh Hew @l 1w el 98 S

arfirenan oS T 27
(a}
(b) 3042 cm
fc) 24 cm

{(d} 18J5 cm

30 cm

- 21

64. TH M & W@EA g A & 3 |

65.

66.

67.

8 T B I T &F%al W I
Co IR A
fa) 8:
() 4:1
€ 21
d 4:3

)

3mx4m e W 6 FHR F JIATHR
A7 30 YRR U2 w0 & o 3ms ol el
wHwAH g @ e m= )1 R R

e w0 {6 Wiy

{o} 025 m

) 05m

fcg 1m
{d 3 m

9 m 3T 9 TF 3 SOR % T U8 H

fel, Pl I8 AAEA F Th-foER 2
amgR <! fsen feaft 27

f{a) 9m

(b) 18 m
fcj 27 m
(dj 30 m

7 cm x 4 cm AT IR T ARG &
# o =R ¥ uia: Wi = 8
@mﬁm%lwmﬁﬁaaﬂgﬁ

T ST w87
{a)
(b) 296 cm?®
(¢ 176 cm?
(d) 616 cm?

352 cm?

[P.T.O.

StudentSuvidha.in



http://studentsuvidha.in/
http://studentsuvidha.in/

68. The diagonals of the three faces of a

cuboid are x, y, z respectively, What
is the volume of the cuboid?

(@) = ‘

22 '.

PRI
(b} ol
. \ﬁy2+22-x2,(52+x2_y2}(12+y2_22)
V22
{d} None of the above

69. Half of a large cylindrical tank open
at the top is filled with water and
identical heavy $pherical balls are
to be dropped into the tank without
spilling water out. If the radius and
the height of the tank are equal and
each is four times the radius of a
ball, what is the maximum number
of balls that can be dropped?
fa} 12 L
(b} 24 y
) 36 E
(d) 48 .

70. The diameters of 'two circles are
18cm and 8em: The distance
between their ceﬁtres is 13 ¢cm.
What is the number of common
tangents? ' '
(@ 1
{(b) 2 .

3 1

(d) None of the above
|
71. If the height of a cone'is increased by
50%, then what is the percentage
increase in the volurnie of the cone?

fa) 100/3
(b) 40
c) 50
(d) 200/3 |

Q-DETB-K-FN/26A
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72, If three cubic biscuits having edges
0-3 m, 04 m and 0-5 m respectively
are melted and formed into a single
cubic biscuit, then what is the total
~ surface area of the cubic biscuit?

(@) 108 m?
(b) 156 m2
() 1-84 m?
(d) 216 m?

73. A wheel of a bicycle has inner

diameter 50cm  and thickness
10 cm. What is the speed of the
bicycle if it makes 10 revolutions
in 5 seconds?

@) 55 m/s
(b} 44 m/s
fc] 33 m/s
{d} 22 m/s

74. A wire of length 36 ¢cm is bent in the

form of a semicircle. What is the
radius of the semicircle?

fa} 9 cm
) 8 cm
fcj 7 cm
{d] 6 cm

75. In order to fix an electric pole along

a roadside, a pit with dimensions
50 cmx 50 cm is dug with the help
of a spade. The pit is prepared by

. removing earth by 250 strokes of

spade. If one stroke of spade
removes 500cm? of earth, then
what is the depth of the pit?

fal 2 m
) 1m
{cg 075 m
(d} 0-5m

" StudentSuvidha.in
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68. TF AT THRT WEAH F A 72. IR dF wha fingd 1, RS S wAM:

Few & fwdf  wEm X, U z 2 0-3 m,‘0-4m3ﬁ10-5 m%,ﬁﬂ?ﬂﬁ%
AHHINOE TR GChAH AR 3w e frege w6 §, @ wE
T 87 Rrege =1 ol Y8 SFs F1 27
(@) 2= (a). 1-08 m?
262 2.2, 2.2 2 (b) 136 m2
(b) J(y +z szj_x WxZ+y°) {C} 1-84 1‘1’12
i 2
(C) \hy2+z -x ][z 2ix2- y)[x +y 2.2 (d) 216 m
22 , "*
(@) A AR At g 81 7
69. TF T2 YR I, St I R [ geh 5 ¥wws 4 10 ufEmw w@ §, @
2, oot @ andt Wl Mg ¥ ofn Tud wned arefee & e 710 87
il Tﬁ?{‘-ﬁ, ﬁFﬂ‘TI"ﬁ ﬁmﬁtbg, (@) 55 m/s
Tt S £ Al ot B o S b) 44 m/s.
TR § 3 WA, e f B F 9w © 33 m/s
Th R, @ weh SR aweh &R 5
F e T 27 (dj 22 m/s
fa) 12 . 74. 36 cm WEE % X F T AU A
(b} 24 , s W mn R adgm # fen
¢/ 36 fopactt 27
(d) 48 ' (a) 9 ¢m
70. q 3o % =W 18 cm 3 8 cm Bl FH (b) 8 cm
ﬁ%aﬁﬁﬁ@lficm%lﬂéﬁ'g (c) 701'[‘1
@ 1 . o
(b) 2 75. GeF F fm U faeelt @1 @on @ &
fc) 3 T 50cmx 50cm fomn =1 w&E M@
. (d) Wi?ﬁf‘fﬁﬂ?lﬁ?ﬁ . oEE ) wee § de I ¥ EE F
71. uﬁ%@ﬂﬂ@aﬁmﬁso%a—m‘aﬁ% 250 !uuiiimﬁ?mﬂ@%m
A i * omae # fredt wiowa gfx @ A 1 4R 500 em?® i FS F
S 27 THTa ¥ ged ], @ TR I Tes W 8¢
(@ 100/3 (@) 2m
(b) 40 (b)) 1 m
(c) 50 {c) 075 m
(@) 200/3 (d) 05 m
Q-DETB-K-FN/26A 23 _ {P.T.O.
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76.

77.

~In the-figure given above, what is

the sum of the angles formed

around A, B; C except the angles of

the triangle lABC ?

(@ 360°
(b} 720°
{c) 900°
(d) 1000°
' 1
A
c
L p
| B

In the ﬁgure!given above, A and B
are end points ‘of diameter of a
circle with centre at P, and Cis a
point on theé circomference of the
circle such t;hat ZABC = 35°, then
what is ZPCA?

(a) 25°
(b) 30° !
(c) 35°
{d) 55°

Q-DETB-K-FN/26A

78.

79'

B P Q C

In the figure given above, ABCis an
equilateral triangle of side length
30 cm. XY is parallel to BC, XP is
parallel to AC and YQ is parallel to
AB. If (XY + XP +Y(Q) is 40 cm, then
what is PQ equal to?

(@) 5 cm
(b) 12 cm
{c} 15 e¢m

(d} None of the above

hY

Y

A M B

In the figure given above, AR is a
line of length 2a, with M as mid-
point. Semicircles are drawn on one
side with AM, MB and AB as
diameters. A circle with centre O
and radius r is drawn such that
this circle touches all the three
semicircles, What is the value of r ?

fa) 2a/3
(b) a/2
c) a/3
d} a/4

' StudentSuvidha.in
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77.

Fm d el § i ABC Wi
© @ BIgH A, B C ¥ uiw: Rl s

%1 g Tkt 27
(@) 360°
(b) 720°
{c) 900°

(d) 1000°

B

TR A T FE F P IR A W H
= & BR{ag A 3R BE st am A

e R uE g c R w1} T

ZABC = 35°, @l ZPCA 711 27
(a) 25°
(b} 30°

(c) 35°

‘ fd} 55°

Q-DETB-K-FN/26A

79.

B p Q C.

SR & g ARl A 30 cm @EA e
a1 ABC U wwag figs g4 Xy, BC
¥ g ; XP, AC % WARR ®
3 YO, AB F @k 2 3R
(XY +XP+YQ) 40 cm &, & PQ ¥
O R?

fa) 5 cm
(b} 12 cm
f¢/ 15 cm

(dj 3H U A HKE

TR @ T arfa A walag M OF Ay
AB T% T 2a &= & B1 AM, MB

3 AB I A A wh @ wE @
m &) ¥R 0 MR Bow r W ww W
Y G wren g T 7% g9 dl adgel
) WY Fat R, @ rH A W= a?
fa) 2a/3
(b} a/2 S
fc a/3
(d) a/4

(P.T.O.
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80. The|mean weight of 150 students in 83. Consider the foliowing statements in
a certain class is 60 kg. The mean respect of histogram :
weight of the boys from the class is 1.
70 kg, while that of girls is 55 kg.
What is the number of girls in the
class? . ) .

'i - 2, Histogram 1is suitable for

(@) ‘105

continuous random variables,
(b 100 .where tht? total freque.nC}{ of an
' interval is evenly distributed

Histogram is an equivalent
graphical representation of the
frequency distribution.

" o) '5,35 over the interval.
(d) 6.0 Which A of the statements given
81. In an! examination, 40% of the above is/are correct?
candidates wrote their answers in {a) 1 oniy
Hindi F'Iand the others in English. {b} 2 only

The laverage marks of the
candidates written in Hindi is 74
and tflle average marks of the
candidates written in English is 77.

{c) Both I and 2
{d) Neither 1 nor 2

What is the average marks of all the 84. What is the median of the values
candidates? 11, 7, 6,9, 12, 15, 197
(@) 755 (@) 9
. é (b) 11
7 : fcj 12
() 7670, (@ 15
(d) 768

85. Let ()Cl, yl), (xzs yg): vy (Xp, Yn) are

82, Consider ‘the following f{requency n pairs of positive numbers. The

dlstrlbuthn : arithmetic mean and geometric
Class 0-10 | 0-20 | 0-30 | 0-40 | 0-50 mean of any set of positive numbers
Frequency 3 . 8 14 20 25 (Cl, Coy vy Cn) are denoted by M(Cf)’

g G(c;) respectively.
What is i the above frequency

distributioh known as? Consider the following :

(a) Cumul‘.ative distribution in 1. Mix; +y;) = Mlx;) + Mly;)
more than type 2. G{x; y;}=Glx;)Gly;)

(b} Cumulétive distribution in less Which of the above is/are correct?
than type fa) 1 only

{c} Continu'__ous frequency distri- (b} 2 only
bution ! (¢ Both 1 and 2 )

fd) None ofithe above (d) Neither 1 nor 2

Q-DETB-K-FN/26A : 26
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80. @ Ham ¥ 150 frenffat & wrew wx
60 kg B! FEW F R & WA R
70 kg ®, SEh we i TRl w1 WA
TR 55 kg §| %1 B aehal K wen
w087

(@) 105
(b} 100
{c) 95
(d) 60

81. T% wlam § 40% onafda 3 =t § I
feu st sy 3 Y ) R # fred
el argial &y w= oalwd 74 ®
R it F R I enafE %
IRt F 3hwa 77 B wft snafi m
irga Wi 4 7

(@) 755
(b) 758
{c) 760
(d) 768

82. Pl aTwaTE Het w R B ;

Fif 0-10 | 620 | 0-30 | 040 | 0-50

FRERar| 3 8 14 | 20 | 25
I AR ST 6t R ' # S
ST B7

{a) G=l w2 w&y Fi e it
(b} w5 ¥ Y ade wH H
{c) WOd A T

(d) Sedw i /=g 3

Q-DETB-K-FN/26A 27

83. smuatm % faww 4 Pefafes s W

o Af :

1. WEEE ged § SOend g2 &
- 3o fer )

2. @i I9Yh § Haa i =
% fou, 5§ & s f A
AR, U T gHaed & |

Jugeh FuA # ¥ BE-T0/A a9 3737

(@) & 1

(b) FFA 2

) 13/

(d) Ad@1MWaH 2

84, 11, 7, 6, 9, 12, 15, 19 I mftdsw =

T F 87
(a) 9

() 11
) 12
(dj 15

85. W =ifere fh:

(xp y],}a ()C2, y2]»'":(xnﬁ yn}
U HEelt % on W & w9 wWEed

(61s Cgy ey €} F THET THTT F WIRR

e AR IR A FA: Mc,), Gle;)
T a3 \
ﬁmﬁi‘@amﬁaﬂﬁﬁ‘m:

1. Mx; +y;) = M(x;)+ M{y;)

2. Gx; y;) = Glx;)G(y;)

I A A FF-ayd wd /8

{a)} Fad 1

(b) aE 2

fc) 1323

(d) AW 1IANAH2

[P.T.O.
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86. A circle and a square have the same
perimeter. Which one of the
following is correct?

(a) The area of the circle is equal
to that of square

(b) The area of the circle is larger
than that of square

{
{¢/ The area (?f the circle is less
- than that of square’

{d) No concluslion can be drawn

87. If{x%+x7Y= 32;2, what is one of the
values of (x - x31)?

(@) 18 | (b) 16
(c/ 8 - {d) 4
!
88. Consider the following statements :

|
1. If two triangles are -equi-
angular, then they are similar,

2. I two trialngies have equal

area, then they are similar.

Which of the lsta’cements given
above is/are cor'rec_:t?

{a) 1 only I

(b) 2 onmly i

{c; Both 1 and;2

(d} Neither 1 nor 2

4
89. If two corresponding sides of two
similar triangles' are in the ratio
9 : 4, then what ils the ratio of their

areas? .
@ 9:4 ';(b)s:z
) 81:16  (d) 27:8

Q-DETB-K-FN/26A

90. ABCD is a quadrilateral, the sides of
which touch a circle. Which one of
the following is correct?

(a) AB+AD=CB+CD
(b) AB:CD=AD:BC
fcg AB+CD=AD+ BC
(d} AB:AD=CB:CD

- 91. By selling 8 dozen pencils, a

shopkeeper gains the selling price
of 1 dozen pencils. What is the
gain?

(@) 121%
(b) 131%
(c) 142%

(d} 87%%

92. The ratio of A to B is x:8 and the
ratio of B to Cis 12:z If the ratio
of Ato Cis 2: 1, then what is the
ratio of x:27

fa) 2:3
(b} 3.2
fc) 4:3
d 3:4

93. If @ and B are the roots of the

equation x? + px+g =0, then —a™!,

-p~! are the roots of which one of
the following equations?

(@ gx?-px+1=0

(b) gx? + px+1=0

2

fc) x“+px-q=0

(d) x%-px+g=0
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86. TF A M ww T F ahEm wwE 2
FrtaRas 4 @ F9-91 & wd 27

{a) 9 6 &%, T % SAGS F TER
B

(b) T H ATFA, T FH G B
e 2

(c) 9 F) EAES, T F YTEA o T 2
(d) aﬁésﬂﬁw&ﬁmmﬁwm

87, AR (x*+x %) =322 %, @ x~-x"l) F

T A A T T w87
(@) 18 (b) 16
© 8 @ 4

88. Fr=faflas el W = $ifvm .

1. IR @ By 9w S §, ?ﬁé
THET &

2. IR [ o & fowet wwEr §, @
3 g9ET £

-39 wuAl § A F-ar/a wd g/Ee
(o) *ad 1

(b} HFA 2

(¢} 13 2emt

[d ad1Mmade

89. AR  waew fngwt A @ G s 3§
HIE 9: 4 B, a’laq%@ﬁqﬁﬁﬁaﬂma

T 87
fa) 9: 4 h) 3:2
¢/ 81:16 (dl 27 : 8

Q-DETB-K-FN/26A
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90. ABCD T gy« 2, fred ol s 3o
= e weh ¥ Fefafea § 4 Sw-
T w27 '
(a) AB+AD=CB+CD
(b)) AB:CD = AD:BC
fc) AB+CD= AD+ BC
(d) AB: AD=CB:CD

91, frft THEMER A 8 &l I I w
1 w7 et # fown $img 6w
At X1 A Fn R

(@) 121%
(b} 13-%%
(c) 142%

(dj 87L%

92. AW BRIGIE x: 88 3R Bw C A
I 12:z B AR A HW C ¥ Iuw
2 :lﬁ,ﬁx:zﬂﬂiﬂmﬂmﬁ?

@ 2:3
b} 3:2
) 4:3
d 3:4

93. ﬂﬁmx2+px+q=0%ﬂ§a3ﬁ“{
p %, @ Frfifen wiwol & 3 fra
I'Gl":ﬁaﬂul%qﬁ—a"l‘ p-1a?
(@ gx?-px+1=0
b) gx2 +px+1=0
€ x%+px-g=0

(d) x2-px+g=0
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StudentSuvidha.in



http://studentsuvidha.in/
http://studentsuvidha.in/

94. For a set of pdsitive numbers,
consider the follow‘ing statements :

1. If each number is reduced by
2, then the geometric mean of
!
the set may not always exist.

2. Ifeach numﬁer is increased by
2, then the geometric mean of
the set is iné:reased by 2.

Which of the above statements
is/are correct?

[} V ]
(@) 1 only :

(b) 2 only '
(c/ Both 1 and 2
(d) Neither 1 nor 2

For the next three (3) items which follow :

Let C be a right-circular cone. It is given
that the two ends of alfrustum of C are of
radii 3 cm and 6 cm, and the height of the

frustum is 9 cm.
1

95. What is the slarit height of the given
frustum? |

(@) 3J10 cm
(b) 6410 cm |
{cj 12 em I
{d) 15 cm

96. What is the height of the cone?
1
{a) 9 cm

() 12 cm *
¢/ 135 cm|
{d] 18 cm

Q-DETB-K-FN/26A

t

e

97. What is the total surface area of.the .
given frustum?

(a) 9r@2vi0+5 cm?
(b) 9n(3J10+5) cm?
(c) 9n(3/10+4) cm?
(d} 27x(10+1) cm?

For the next three (3) items which follow :

Let ABCD be a quadrilateral. Let the
diagonals AC and BD meet at O. Let
the perpendicular drawn from A to. CD
meet CD at E. Further, AC: OC=B0O:0D,
AB=30cm, CD =40 cm and the area of the

quadrilateral ABCD is 1050 cm?.

98. What is BE equal to?
fa) 30 cm
(b) 30J2 cm
{¢) 3043 cm
{d] None of the above

99. What is the area of the triangle ADC
equal to?
{a] 300 cm?
(b) 450 cm?
(c) 600 em?
(d] None of the above

100. What is ZAEB equal to? 23

(a) 30°
(c) 60°

(d) None of the above
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94. W\ HERl ¥ W wgEg, ¥ Rm

Frafaflga @t w ff=m fifte .

1. It vals g # 4 2 g fo s
&, @ = i e T w@@m @
sferea 7 7€ @ "=

2. AR y% g@n # 2 S Rar s

?, @ W= W P W 2 W%
T 2

Y wA & ¥ WH-A/R wd /R
(a) a1

(b)
(c)

Faet 2

1 2k 2 2t

d) Tda1AaTd2

A A (3) W & forw -
A Wi 6 ¢ oF oo T} CF w

- AR R =3 om 6 cm i 3

WW@#@Q cm gl

95, Ry firam 1 fecat Sad = 87

(a)
()
{c}
(d)

3J10 cm
6710 cm
12 em

15 em

96, Y H T Fm 27

{a).

(b)
(c}
(d)

9 cm

12 cm

135 em

18 cm

Q-DETB-K-FN/26A 31

97. w7 foms W T 9w S T R7

(@) 9n2J10 + 5 cm?
(b} 9n(3V10 +5) cm?
(¢} 9n(3Y10 +4) cm?2

(d) 2710 + 1) cm?

Wm(aymﬁ%rm:

wA ST B ABCD @& wgde 81 Rt ac afR
BD frg o m e 81 A @ €D W = =W
Sl ¥ St cD @ B W fram ¥ sm

-AQ: OC= BO: 0D, AB=30c¢m, CD=40cm

TP ABCD F71 #39%d 1050 cm? R)

98. BE % T0&t #4187
{a) 30 cm
b} 3042 cm
¢} 3043 cm
fd) Il & @ Y 9

99. ¥ ADC ¥ 3wd F SUat ¥ 87
fa) 300 cm?
(b) 450 cm?

{¢) 600 cm?2

(dj @éﬁ'ﬁ@ﬁi?‘tﬁ .

100. LAEB U & 87
{a) 30°

(b} 45°
{c) 60°

(@) SREwRA AT

. {P.T.O.
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SPACE FOR ROUGH WORK

e

32
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK

* & &

Q-DETB-K-FN/26A 35 _ BS-—70*

StudentSuvidha.in I



http://studentsuvidha.in/
http://studentsuvidha.in/

W T AITR qE e (R G ) 7w S 9 AW 1

& 1. H. : Q-DETB-K-FN | Titeror giedehT aTgsn
O i -
| IR EoR )
i ;] gee | quits : 100
| sgEw

1. wlten YW B F O WG, T 3@ T YRR 6T TgAre oayT 7 o ik Twd w4 R o, wen
a1 BAT Y e Wy o 7 € aRR Y R, ot 3@ wdt whew gt ¥ @gw i)

2. sW-uww W Wt U W whger g g A, B, C W1 D qutfify tie wv @ geag Sk

3. @ wigw yEmm W wy # Ry T wes § s e
sgpai foer 31 wham g w st o 7 fond

3. mqﬁwgﬁmﬁ 100 werim (vw) fu m ¥ v@= wwarw R ok ofiisft 3§ v 21 vdw wwim d SR

TR (Fm) Rt e 1 Y o T W S, Rl e swews W iRk S e 31 AR s ta
aﬁ%qmﬁaﬁmmﬂ‘é% W W T F iRk i S TR waElen @ T weE % T Fae

T W TR T B
5. R I Wt TR A ¥ RY I TR-TE WA il w0 § - § Ru g Béw AR
6. oxft ywt ¥ af= wum )

7.mﬁmﬁﬁmqﬂmgﬁm%ﬁﬁawﬁ%mmmmuﬁmm%aﬁ A o
-9 & we ARE SR F gER § e Iw-wE § 3§

8. 3 I W Ve H TH-TIF T AR & TR AN N F TR W hAel IM-gw e w9 3
AE 29 Ty e g of S F sl R

9. =1 W & Ry o e g % o § wem &
10. Tera Iud &% o =g -
aqﬁgm—uﬁﬁamﬁﬁnmﬁqﬂEmaﬂﬁtﬁnmﬁmml

) % ¥ F g =) Awfcis sm §)1 snficer 7 ves ae ¥ R Ry e oF e s ¥ e v g
frra forn o st @1 T (0-33) 398 & w0 & @@ wom|

(if) #fR #r Inhear o & it I 2 B, @ W 7w Fat wr Smem, gaft Re g el § A o s ad
e &, fi oft 38 W % R awiwEEn @ sl aw W eve Rar wmom

(m)a&wﬂaanmaﬁémmaﬁﬁmm%mmﬁaaummqﬁﬁmm% a1 39 ¥R ¥ R
=g 2o TE fear s

mm%@%ﬁwgﬁw@ﬁﬁ?mmwmw@ﬁ

Note : English version of the instructions is printed on the front cover of this Booklet.
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